Three Digit Numbers

Name:

1]

This Halloween Mackenzie collected
879 candies. Sadly Mackenzie has to
split all the candy between her 3
siblings. How many candies does
each child get?

candies

|£J
Choose the best answer

Emily is making party invitations and wants to send
everyone jellybeans. There are 332 jellybeans in total, and 2
children coming to the party. If Emily wants to give
everyone the same amount of jellybeans, how many should
she putin each invitation?

131 139

196 166

]
This Halloween Alyssa collected
513 candies. Sadly Alyssa has to
split all the candy between her 3
siblings. How many candies does
each child get?

candies
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A group of 630 students are
going on a roller coaster with
3 cars. How many students
will be in each car?

students
@
Choose the best answer
A group of 306 students are going
on a roller coaster with 2 cars. How
many students will be in each car?
134 162
183 153
@

Choose the best answer

There are 2 firetrucks, and 400 firemen. There is a
fire! All available firemen must get into a truck to go
fight it, but you want the same number of firemen in
each truck. How many firemen will there be in each

truck?

185 200

252 164
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A teacher is splitting students up
into groups. If there are 460
students and the teacher wants 2
students per group, how many
groups will there be?

groups

Bﬂ
A teacher is splitting students up
into groups. If there are 477
students and the teacher wants 3
students per group, how many
groups will there be?

groups

Bﬂ

There are 3 firetrucks, and 720 firemen.
Thereis a fire! All available firemen must
get into a truck to go fight it, but you want
the same number of firemen in each truck.
How many firemen will there be in each
truck?

firemen
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#10

A father is dividing up his land to
his 2 sons. They will fight if they
don't all get the same amount.

How much land should each son

get if there is 146 acres?

acCres

#11

Choose the best answer

You are hosting a party for 2 friends and have
baked a cake for them. You can slice the cake
into 592 pieces. How many whole slices can
you give each friend?

296 274

263 327

#12

Choose the best answer

This Halloween Sydney collected 219
candies. Sadly Sydney has to split all
the candy between her 3 siblings. How
many candies does each child get?

75 73

72 60
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Question Answer
#1 293
#2 166
#3 171
#4 210
#5 153
#6 200
#7 230
#8 159
#9 240
#10 73
#11 296
#12 73
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